draw(){

i = temprowsmin; i < temprowsmax; i++) {
map (noise(poff[i-temprowsminl), @, 1, @ ,windowWidth);

map (noise(p2off[i-temprowsmin]), @, 1, @ ,windowHeight);

temp = table.getString(i,11
red = map(temp,15.75,22.785,0,200

noFill();
stroke(red, 8,50, tail[i-temprowsminl);

beginShape();
for a = 0; a<TW0_PI; a+=0.2
xoff = map(cos(a), -1, 1, @, noiseMax[i-temprowsmin]);
yoff = map(sin(a), -1,1,0, noiseMax[i-temprowsminl);
r = map(noise(xoff,yoff, wiggle), @, 1, (5%sizearray[i-temprowsmin])-1@, (8%sizearray[i-temprowsmin]));
x = r * cos(a)
y = r x sin(a);
vertex(x+p,y+q)

endShape(CLOSE) ;
wiggle += .0001;

poffli-temprowsmin] = poff[i-temprowsmin] + MPTspeed|i-temprowsmin

p2off [i-temprowsmin] = p2off[i-temprowsmin| + MPTspeed[i-temprowsmin




